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1a. When viewing a specimen under a light microscope in a well-lit place, which three

adjustments will ensure that the field of view is bright enough? (3marks)

2 Mmmuq ey edtect Lol \ewale Condonsns
~J J J J
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|||)----_.1.‘.‘CJ{ G%\Qdﬁ\/o ’IQA\SQ, ’L\,,, ¢\DOS\+\§(\

b) What is the function of the revolving rose piece in a microscope? (1mark)

H?JG‘L‘ QQIQC{" (2.nSe & .

M(D\&g cg\ﬁv\_CLQ_, @ %IQQ/F\VQ LwaQ "tD va-b bo ;

2.State the importance ofthe,following‘in,living animals. - - .. - —(2marks)-—-—-
a) irritability

E»/V'lO\,ulO oo Oganisms 4 T‘eﬁd QO\gm anH ey C’("Q:ﬁ—‘b
e qmw Raviton raewt i

b) Excretion.

Encures VAt Me 1zbsli e, \/\(Z/J‘—‘h mdemafﬁ Qil_
QJH“C\LV&O»TB N —

3. Study the diagram below showing gaseous exchange in tissues,

Body cells

Tiame flold — :
Dirsction of flow
of hlood

lasma Capﬂhdml“
Redbloog ™
cellg
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a) Name the compound that dissociates to release the gas that diffuses from the blood capillary
to the body cells. . © (1mark)

QK\/ lﬂ&QI\w (‘10 fouw

b) State one adaptation of the blood capillary that favors diffusion of the gas in (a) above.

(1mark)

__g’]_*/) Ql N »Qf\/\doﬁ:ﬂo Jm . RéuCo d% tSlZv\(Q
Y\o«‘mi Wmer to al(nde Fuy P»QSS&%& e Q,g Cs.

.-ci) Name one non- ~cellular component that does not filter out of capillaries during tissue fluid

formation. . (1marks)
Plasme [Aodece .
i) why doesn’t the component named above not fllter out of caplllarles? (1mark) _
p}iﬁ:\é DMQ’QMJS MQletnle, are JCbo kbm t» Qﬁ Uer out thespde
W "\ 1"’-"“9 o’/t Gv\)\\\clx«.v 0.
4.Belowfs a diagram of jaw of a certain ammal
a i) Suggest the mode of nutrition of the animal. (1mark)
\—J@r%i VeYou ) ‘/
ii) Identify the part labeled Y and state its function. (2marks)
Identity:
3|Page
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b) Name structure X “(1mark)

Hb*my' Dad ekt
Ve | '

\s~ % 5a. State the adaptation of vascular bundle in plant nutrition. . . (2marks)
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=t Mo Honls A « [Reat Feodaals :
. b) Why are xylem vessels more effluent in transportatlo? of water than the tracheld‘-’ (1mark)

Avw L\b’(lm\ (/.MS K)l[\‘(eg am% Ao QMB AR we OweeS w28l6
45 MWLM CSes w%f?hh,u

6-Whichstructure-in-plants-is-responsible-for-development of:- (2marks)

a) Lateral roots

PQ—Y{ Secle ¢
=7 > _
o

b) cork cells

-C el C@mloiom/:

7. Hydrogen carbonate indicator is a red indicator whose colour turns purple in alkaline

conditions and yellow.in acidic conditions. S \ A
i R e 4 e ) ¢

Below are two set ups, A was kept in darkness while B was kept in a well-lit place. They were let

to stand for 6hours after which Bromothymol blue was added into each test tube.

4|Page
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a) State the expected.observations on addition of the.indicator in.each test tube and give.an__.

explanation in each case. (4ma'rks)

; l) Test tube A T

Observation --- 1(/\'8 fCth:\f /&"\-UW\’S V’P {low .
Explanation --- Plﬁ x HOIOLPQS \’QJLQ_QSI\J CD.Q l'KZq Nade
\Qge GG O’ |
~ii) Testtube A
Observation /L"‘éL @’b\/ &‘l\’\(\ < D\U’ D ‘Q,

- Exp,anaﬁonﬂ/w e e Stn G i’,)ﬁ LZW OUM e qud DLMW(%
RBixd «fES Con

b) Why was it necessary to use cotton wool instead of a rubber stopper? (1mark)

04 (irlﬁmuww if YQSDLﬁthWKiaﬂ&&Q’TD G;k)(ﬂk* 5} lﬁrT;bge

¢83) Inwhat form is the energy.produced from re’spl_ra.tl.on stored in cells?.

Adovosias, -M_Pkosgkqf,i.:l a1 KT

1% (1mark)

b) Below is a chemical equation that represents oxidation of a certain food substance.

CsH1040 + 80 Op - 57C0,+52 H,0+ Energy -

R

S5|Page
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| : \ W ooda produeed 57 (2marks
i) Calculate the RQvalue of the food.  Resgudeny |, Coden @V R TR = { )

(\')u\o*\;z/\\' Opypen used 8o 2
ii) ldentify the foodvsubstance being respired. | (1mark)

-+ 4y

——

e Figurel =~ A - Figure 2

- ——-—;—’ 1 - 4 »

a) Both cells were found to have numerous mitochondria. State the sngmflcance of the finding

for each cell. . : - (2marks)
flgure 1 = ~
G"PMMFH - g h | MYy ”*V\WW 9rW QChve Qﬁos«f(\ohw\
S - PR Y ows 7me 'LW—'S‘«LQ PP R R
figure 2

SDerm Sl "HS"QOJ { Q\!qm\% Jaﬁﬁaﬁlh '—3F€~\ lga

6‘0“\?‘(&&2’/\ AQNMN"P\“/ Mok, 2yvevh ;F{ mwng\-t/\('wL"\MLbf 8,\
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b) State how the following adapts the stated cell to their function. ~ (2marks)

i) Presence of acrosome in Figure 2 cell ' CUY\"\M \7 {) BI-Che CRIALES Yk

A

Agenits. fie. viliole.  Nemb mnd of s Hrt_ Jedibaakin

i) Presence of an elongation in figurel cell. L‘N&{Q&J \’}g\“j)(ch G\FQQ TN
dogu‘(bh(m @j@. w2ter Gnd. Tue rz\ LW\S"

10 a) Distinguish between a tissue and an organ. ~ -  (1mark)
S (Y - W %ﬂm DM\OW(GW‘“ ‘QPQQG—Q«&Q_é Ceolle- mr’f”’“‘:g
|
< &'\7:36..’{20 %nchm
@0\@“ Mctdt Jo ﬂi Sevem( hsfwﬁ_»HMg_R f\qu
e Pemfw :Feq; S

b) Name the tussue that _

. i) Lines-and protects the internal and external-surfaces.in animals. .....: - (1mark)

é__i_i)_EQrﬁ-"ng_émfs_@!m_waM_i_r.rggul_a,rly.sbaped_cglI,_ that are for st

torage and packingin__
(1mark)

plants.
PQ'\'QV\. C‘f\)»mq ' ) ) ki

—r

11.State two imiportance of mastication of food.

-

(2marks)

- Buesle Fad drh Svaller plaar S cat> Se@liends ‘

= V’(\Xofa \-);F‘;é bﬂtl LSAwo\ m Oer,w é-TJ\QS\—L,‘\&_
@»iymo"j

sl ’ > Snrq\ | S S
bvec:l ‘is—t?ed - 1 [ 8159? RSS2, fgffr{ éJZIM

12. The following | formula of a certain animal

2 1 2 3
I— C— P—M—
2 1 2 3

Scanned with CamScanner



i) Calculate the total number of teeth of the animal? Show your working. (2marks)

R ) =32

ii) Identlfy with a reason the mode of feedlng of the anlmal -(2marks)

- CCR\V\LVD\’BMS° I R ZRIZS {
RQ@JM Protni F[/GLH;(;L, Q/M //Qci-cs ('\or}y D:tol

13.In which way do the followmg determine energy, requirements inman? . (2marks)

)Sexofanlndlwdual MGI@Q Gl W\W‘QJ NW)‘M }KZ %N\.ﬂ,(’%
g ‘\&ijwwv_ LSRN R ke wef A
— A

ii) S|ze‘ofan mduwd;al \U"\MWV MWV\\@Y\I 1‘\6\?\«& (K\ZL r(wv G ORS
v \lseww— YO oA \/\waGJ b osc \ Od\ ,ramiq RAAR
\'\Q\,\(_Q A\‘Q'—V\a.c&{ f\'b ae.\DlGCQ Uﬁ‘ (GCCQP\‘ C&M&\

14. What is the structural difference between the phloem tissue of the sub divisions

Gymnospermaphyta and Anglospermaphyta? (1mark)
. mar

Q7mvu52]berW1£ — 755 O““P’&V\:ZN\ G\S . |

i (gr\)pmr ’H7-1Q CbN\i{Qm ™A CQ\\s

4‘ e \ “eo J
15. a) State two ways in whrch the heart is protected agalnst mechanlcal injury during .,

' %%7%% he[a);:fat ”‘l-w:—“' o (Zmarks)
}k/ @v2ly U W\QMJ{O(CRM MVQv\l‘\ OVQ’\A*CQCIAHNQ
V’ — Poviaial Thd  veduion I“Yh@n log hregi ]ﬁ—\o "
awB Wi CQQ,}‘J ¥ .
/ A
b) What is the cause of arteriosclerosis? (1mark)

IAKCCUMb @t\mr\ Q MPQM/DLQ%Q s ﬂ:_‘mvxe/ (’q‘n\.v\p
J
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16.The following diagrams show a section through the cortex and medulla of two kidneys

obtained from different animals.

vah ¥
Cerlex

wetully ‘ medulie

mm-l 8

2
e

a) WhICh anlmal llves in the desert? Explam (3marks)

X — W lni. Godox mn& gwt\HBNWIJM\Q
= i redeed ulie ok, (ramm g
— l——-@(\m Lz ci(»..Heh\Qf To Anlacia,  Wiler rP““"’&‘Y"foj\*\/

{
(—/\MWL N&J\\b\ ks G\E[‘%Ma\.c\g’\ \o:r- e el .

b) State the differences in the nature of urine produced by the two animals on a normal day in

_terms of volume and concentration. . R . :(2marks)

K —Beduon, Small Vebuent Q(/ C«wum\\@vo( Jane,
B - pW'AULCM L“’Q\& \/o’ew Q/ iz QM

1 ',Jv

17.State the éofference between habitat and ecological niche. (2marks)

Hﬁ\om& &PQ—@KG Dk(o HOU, Q?Q@c, Rt OrcW\é N
O G—ﬂf\mﬂw\/} Vs

NldV\Q/ Pﬂsthm oak  Ow @ﬂ/\o\fwgm @auf\»\w Y

@ bt o Ak Yl
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-JBa?a,tetwo@L:\nctuons of aerenchyma tissue in hydrophytes. oy (2marks) \
\n
Zanlsr.! ; i - \
—. Mg Q&(mhm( dT e SF @ Rhot 30020, W oo 1SS
Plast . g oY
__________ WV t '

» 19a) What two roles does the placenta in human have in reproductlon’? (2marks)

B SPQ{;K €L Qp/méuu\m \NJY«YLM%( Q%M[ﬂvwmﬁ/
— Sde @U&&akab s?f‘ mt.QHU\-(J \OUNQQv\ 7§Q«t&/_)

wad N\E‘e e (Om.'

: h) State two functvons of follicle st:mulatmg hormone in female reproductlon (Zmarks)

= &\wqﬁ &a&%m 5T Oeﬂm—qgu\,w *
— (C{W\VL\Q éo\fdon\#\)o wr %F— o‘mﬁfn /Fo\lmm,

20.Briefly explain the role of the two types of cell division in the life cycle of mammals. (2marks)

i) Mitosis

CS\*O% muiixo\mzhm &Z(f Gl xawi&&f\ Jw cﬂmﬂ(\.,

Himinioi iyt PR S GO D
‘ﬁ - sy 1 e — ( e "-”“f v..&.h,k.._‘__‘,,
! a ; N "f'?' S Ty H\m- S
ey

i) Meiosis

21a) What is a dichotomous key? (2mark)

A et €F GMM&K &H@ﬂewh éfuonfoﬁq 8o vy
d\(mdmjshcs 5\5§ cn’b\@MSm& Welon o Douw&"
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b) Explain why a dichotomous key is useful to a botanist.

(2marks)
{:;\ab\ac \odan?b S \ge\,\%’/ﬁt xp]a ¢ G«n& Gora| Pedeo
koo

b@&eé N CM{(QT\?KC_S“—/Q-‘&@ M%(st 0

\’?—M‘ 2ty based o TB?V- CJ/\O“fL (CS;
e,

22. state the functions of the following parts of a ducot flower.
(2mafks)

a)Ster
Suppats. = &qﬂq ,
— Rw:as::- chSSQqQ__ m @Sk\ev— ”_}’-‘be— CZZ?‘S:\J\%

Ma e C\%Q_ﬁ
(amark]

D) SERAIS i P
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— Ctlgur= = ‘t{mcf- f?e AN \?0_‘»\\&%{“\/&

23a) What is the meaning of carrying capacity in a habitat? (1mark)

Twwher S mﬁmf&m& L @ gtuen Sprieo

m&x'lmwm
& \(@-bC]Q&" i (€=
andetoble  yeseu

\Sﬁ:—l‘){)lﬂ"‘ Mtﬂ:@"r /QC(AQ \LSL&,TQ I &mejz

: wb) Name twedensity dependent factors that determines the carrying capacity of a population

(2marks)

in an ecosystem.
——%wmoabm e ~geo

SAris

— i e C%L

24.Suggest reasons to explain the followmg observations!

—

a) Removal of predators for a certain herbivore population may in the long run lead to a
(2marks)

decrease in herbivores population.

Remngl SF nga,}ma (.m& o VeCre s v o

_-MLCS.JL\L\/\J“/ Thies e OrRefe, Cmm\ae oA Cmu@\

lc o MG ﬂ«bm“/ !
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b) There is a wider vari ty of herbivores in the wood land than in the open grassland.  (marks)
Qe WSemdland s Goboivore—y Gow L&Q%m [cele_pesdafng
QQS\(» \bw[/\(/\Q( WQLSKQ\D v

~ T \ow gk 2 Dlants o %@3 .
’ ;. J

25.What type of evolution is supported by the following:

(2marks)

a)Anangousstructures it

&V\VMQN\% ‘e\/'TP\LhW\ o “_-

b) Homologous structures

~ - N — '
i)\\/om\o WL Vetulen 7 -

26. State the SIgmﬂcance of followmg in plants

i) Phototropism

' (ima¥k)
E/\O\IOQA Dt S\\omL +x T M%@ 0 bl
\m\w% KB\xGJF'SmeT;V

d:"‘ i
i) Geotroplsm (2marks)

~Ereldon_chat 4o avpd Spaals de sbl@e g\t
B == m@ é«éjmk« Em,wado o
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